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FEEDBACK ON PROBLEM SET 9

Below please �nd the solutions to the further problems, using the notations from

Spivak.

1. Solution to selected exercises.

Part 2, Further problems.

1: If A is the unit cube with the usual orientation, then its boundary is given

by the 2-chain

∂A =−∆(0, x2, x3) + ∆(1, x2, x3) + ∆(x1, 0, x3)

−∆(x1, 1, x3)−∆(x1, x2, 0) + ∆(x1, x2, 1).

2: With the induced orientation from ∂A, the face A1 is equal to A1 =
−∆(x1, x2, 0), so

∂A1 = ∆(0, x2, 0)−∆(1, x2, 0)−∆(x1, 0, 0) + ∆(x1, 1, 0).
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